
R
1. fyo Pql6loids P1 and P2 .re pla.ed witr ihcn .xic

fcrpendicular to esch odl€t. Unpotrrk€dltftbnr
incident on Pl. A third polaroid p,l b kept in
between Pl and P2 such that ib axfu maie3 llr 6ngle
45'with that of Pl. The inh$ity of haisndtdlight
throu8h P2 is :

Xtr,.

are connecH by a maqrle3e and inexr.nsibk EEiry.
The whole system is suspended hy a Jnaisless
sDrins as shown in ficur€. The macnitudes of
a.releration of A and B immediatelv alg theJtint
ie cut, are rBp€ctively :

w'yqtw'

,u
'ur^

Proceis

Colulnn-2'
Adiabatic

Isobaik
Isochoric

(1) P-rd. orb. R-\QA-^ o'&, *-
\gf P-c. Q-+a, R+

a, SJc
d, SJb
q' s-+b /J

Thermodynamic processes a.e indicated in the
folowiry diaSram.

P

700 K
500 x

300 K

Makh the folowing
Column-l

(4) P--rc, Q--rd, R-+b, S-+a

4 The rc.istance of a wire is 'R' ohm_ Ifitis melted

fl

P,

o
R.

S.

0)

(2)

(3)

and sts€hhed tD'rf
resistan<e will te :

R(1) ;t

Ql 1.25

0) r.se
(4) 1.6e

Suppce the charge of a

- Two blo.ks A and B of mass€s3qggbqg5p€ctiv€ly

q

k"t Yount's double slit e\perimeqlrqliElElbged in
at and th€n ina medium orher than rn. Ir is found
that 86 bright fringe

!.ies in air. The

7.78

8n l,A 1
x

;:

Io

t6

Io

2

lq

I //\'lo

8I
t-.
t

tl

({) 10-37 C

kgl

&+ou-'
h \n$t

-I

3.

//
(2) nR

Rotv
\F/ n'n

5.

of the

q ltw

One

than size) apart is zerc, thell

* x10-v
{civen ma$ of hy&oFn

lf

1o-{7 c
(2) 1o-,0 c
(3) 10-zr C



U. A PhYsical quantity of the dihslsiollr

c.n be fomed out o( 6, G and 
a ln b k b velodty

of light G ir universal coBtant of gravitation .Ird
e is chargel :

0)
1 G---

4r.0

,-1^ro,frrrfr
\40

**,

% --vrA

l^L

9n,

(2) G
8. [n an elechomagnetic

m-dan sq field is
Effi = 5v/ trt. The peal value of tie magrEltb field
i3:

4.23x10-E T

x to-8 T

(1)

9. Oneendof Iis
of mass'm' and other end struI
pet on a smooth If
move6 in cirde wi$ sFed dle
particle (directed towards cen will be

(1)

\2)

2.83x10-l T

0.70 x 10 -t T

lt""l
't b-

,;?,t
1,

sr ,["*]'
tl .' 1%to 7lcr"'."]

7

ruLr/a
12. Two cars moving in opposite direction! approach

each other wrth speed of Z-mA and 15.5 m/s
repectvely, rhe drivgpldrqtElgtEls. hom
havrnt a rrequFncy @ Iy . The frgggrry heard
by the d r,?r of the set6-nd car is lvebcity oI round
Yoryl6|,

\rd ,G* -f5 Cg
350 Hz

l llz
411llz

wooLSy +ltt'
l\" -1L

(I Jepresenb

(1) Zdo

the tension in the

2

12) r
(2)

(3)

(4)

ox(3

L
v"/x3+

10. The de.Broglie
equilibrium with hea
(Kelvin)

0)
2h

JmkT

(4) l-+

-rt

ata T

13. Which of the fouowins

(a) Centre of mass of a body always
with the cmhe of gravity of dE boay

(b) Centre ofnass ofa body b 0l€ pointatwhich
the total favitationd torque on dre body is

(c) A couple on a body produce both
translational and rotational motion in a body.

Mechanical advantage trerEr thall one
means that 5m.ll efrort cltr De ued b lift a
larye load.

(c) and (d)

O) and (d)

(a)"rAF

O) and (c) :

(d)

h

vCkrQ)

/ v
(3)

(4)

2h
J3rllT(4)

t;!ll ,{i

t
.'.

halved

blacl body oI 12 crlr

1800

225

450

1000

(2)

(3)

(4)
/

I



' '+ -L-t'-,
4r

Preeti reached the
€rcalator
stationary
remairu stationarY the

station and found f,ut the 17.
the

On 6he

then

A pokrtioEEte( b an a((1rrah and vElauhiei't(e
b mrle elec-hi:al measuemenb of E}lF. b€cause
the rrethod involv€. | -<-".-
0) a combination of cells, galvanometer and

Q)
(3)

(4)

r€rfutance6

c€lls

il v ttrough tle
(2)

(3)

Salvanometer

18. Which one of lhe following
bias diode ?tz -tr

trtz
{ l./

(4) t, +tl (1) 3 R 5V

-2V

It 3V

Two discs of same moment of in€rtia rotating about
their reSular axis passing through centre and
perpendicular to the plane of disc with angrlar
velocities (t)1 and (,)2. They are brought intD contact
face to face c6iitd-mg the als orroGdTon. The

(3)

-2V +2Verprcssion for lB of

o) *",Xr

(4) I (ror - o2f

hi

en€rggi$jliej,roc€ss

+-zl2 )1
1,

n;rJ
I ("rr -r,lzf

(4)

19. The ratio of wav€lenglhs
s€ries and the last line of L
(1) 0.s

12) 2

Bl 1-/
(n\-/

4n aftangemmt of ttuee parallel shalgB_wLes
placed perpendicular to plane llEEjlD.int
sdme cunent 'l' alon&lEl!4llElction is shorr.n
in Frt. MaSnitude of for(" per unit length on the
middlewire B' ir given by

lup
{^d

L1rr"

a). The bulk modulus of a
suffi to uniform

'(4)

is:
(1) 1.15 pJ

9.1pJ

4.5s p I
2.3pl

sDherical obiectis'B'- ff ir i.
p.ressui[GIfiE?action r

3p

B

21. A250-Turn coil of 2.1 cm and
width 1 and

a riagretic sftn86045T. Work
done for rotating the coil by l8C atainst the torque

$${#. V
(4)

the escalator talcs her up
by her to walk up on

(1) tr-tz 
.

tl+t2

15.

(3)

'),

Ih is

--( I

| --),

\/A

d.;

4

u|,
a,nd

(4*

4, ?il

0

x
^

\1,?

( 1

d6

3B

B

d

./u ^i,f/t;a
P^i2(2) ,;

r:r boi2., rrd

s.,'

s\.



ZL A roF it wound &ound r
3 kg and cm.
accel€ration o({E
a foiEc of30 N ?

0) strr./ s2

(2) 25 m/ s2

if the roF ie

(3)

({)

0.25

25 nd/ s2

928 lg m:r

550 kg m-3

425 kgm-3

800 kgm-3

e\)

23 A U tube with both ends open to lhe ahospheE, b
partialy filed with water. Oil, which is immbcibk
with water, is poured into one side until it stan& at
a distance of 10 mm above the water level on the
other side. Meanwhile the water ises by 65 mm
ftom rts onginal lev€l (see diatram). The.deruity of
th..'l is

-rFinal water level

Initial water level

65 irm

M
tC

(2)

(3)

(4)

1f.l\
$"
4\'

24.

0) -Bm/sz

('lu o

(3) 5 m/s,

,\ l^,",

{.-4t
s-V

*rsf,*
L\- I

E. A partide execuhB linear sirrrph h.rDolriq hotion
with en.mplitude of 3 dr. Wh€.&ffid" i, 

"t2 dr from the mean p€iqo& LE!Ei!t!!e oI its
velocity is equal to out of ib accek;rtid6. Thm its
bme oenod m seconds B

2n l*1)0)E

I

Minimum work is required b move o in
fieurE (a).

B

Pa

65
---r--

Pa

oil
I

(21

26. Radioactivematerial'A'
and material 'B has
ihey have same number
the ratio of

1
'A wil be E ?

(4)

o

,1V'#^"G''7
,{-,tv s

1

9I
.l

),

7t

I
8I

that

0i

(2)

,,2*'u|l'_// ,n,t@

r "'1li
$1

The diagrans

^[]l:
)) ),)) I

^l
3

'o ro

"_I:y4!onaosh€."l't
Maximum worl ii required to move o in
fisureOL

(2') Maximum rvorl is reqdr€d to move q in

V

9

(4)



(i) I

35. A

i5 connecd in Paralel total

reiulting sl:!1m

0) increases by a facto. of 2

33. If q lnd 02 be the appaEnt aryler d dip ob6erved
in two verticrl plan€. rt rlght antb b each odEr,
then lhe Eue angle of dip e is 8iv€o by :

(t) tari0 = tan2or - tanro,

Qlfu=aP-ar+coPa,
p) tan20: tan2ol + tan2o2

(4) cot2o = cot2o, - cot202

e) ircreases bY a

P1 -,/decreases 
bY a

(4) rernaiff thesa

fsc{or of4
factor of 2

hu'y
tical

5

+
,h

29. The ratio of rea

microscoPe for two
r-=6000 A is: *_e

Corsider a drop of rain water having maas 'tg fauing
from a hei8ht of I Ln- It hiti th€ Found wrth a

and

speed s0 ur/s. ffi[-e'8' const nt wjlhj value

36.

l0
'16: 81

A:27 '\'4*r The work done by the (0 sravitational
the (ii) resbtive force ofan isp)/

P// 1

(1)

. (2)

(3)

.-. (4)

tllm
tlrc

(2)

(3)

..(, 10I

(i) - 10I

(,) 1.2s,

(ii) -8.7s1
(ii) -8.2sJ
(ii) - 8.251

\o ,p
"-#,30, The acceleration due to gravi

earth. Than

4;
r (q)0 l

of diamcter 0.1 m has 2x 104 turns

turns and radius 0
coiridint e.ith the TIE-Arlent in
the solenoid reduces at a
4 A in 0.05 s- IIthe
the btal charge
time is:

(1) 16 rpc
p) 32 rr pC

(3) .r0pc
(4) 32pC

through

,r dW
lo)o

a=1r,n
2

d=1km

1T

Two astronauts are

space after having lost
Thc two *'iI

Q)

(3)

(4)

Q)
(3)

(4)

will becore shtronary.
k€ep floating at the same dittance between
tlem.
move towards e6ch o0rer.

move away hom each other.

curent'i' through the battery after th€ sra,itch

Frqure shows a circuit that contai^s three idenh(al
resrsrors wrth ,"s rst.niiT?Iiiii?ii6l-r* o
identical inductors with indu;6re L=2.0 mH
each, and an ideal battery with elrJ E = l8 V. 'The

A beam of light from a source L is iEid€rt mrmally
on a plane mirror fixed at a certain dirtiure r ho01
the soulre. The bealEl ir r€fl€ct€d b.*.s a spoton a
scale dcd iust.bove 8le soure L Wh6l th. mfior
b rotabd through a sEall angle i, the sFt of the
light is found to move through a dbhnce y on the
scale. The angle 0 is given by

+

tt{
a,

\,

Ql/6 vJ\
cR

v
2x

v

7

2y

(2)

€)

(4)

&1
v

x,
\fl

p
1'th

0 ampere

2trrA
0.2 A
2A

is

34.

t'

q?E'

i

I

-$I*

"t)

r

\il+
I
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38. A gas

i2)
(3)

(4)

(1) = 0.3 x 16 rrls-r

(2) =6x1Sms-1
(3) = 0.6 x 106 Eli-1

(4) = 61x1d ms-l

The phobekt thle hold wrveL'l8th o( rilve! b
329) x 10 - r0 EL Ttlevdaity oftheel€ctone+.cbd
from a silver surface by ultr.v&let-Ii;ht of
wavetenpth 2536 x l0 - Io m is : +

(Given h = 4.U x 10-15 evs and c =3 x 108 ms-r)

11 RT

4RT

15 RT

9RT

".\6 ^)1$(""4
*8rr^{- b'[

'46
39. Two rods A and BofdifferentmaErialsarewelded

totether as shown in fiSure. Theilqrermal
conductivities are Kt and K2. Thq..l$ermal
conduchvity of d€ composite rcd wil be :

{1. The dven electic.l n€twoll ie equivalert to D

B

D Y

tht'

o)
NOt gate

AND gate

NOR gate

(2)

(3)

(4)

42. A spring of force constant k is cut into length3 of
ratio I :2:3. They

in
parallel and

0) I :1a

(2) 1 :6 J
I ,?'

.J

-l

(3)

(4
L l,',\:)na1 :11

I 6)t )). {

*offi$. A camot engine having an

engirE, i5 us€d as a
the sFtem is 10 l,

retnter.tor. f dElrgrkdom o
the amount of e'riqrgr abcorbed

l0

(1) 2(K1+ K'

K1tK2

(,.

angle oI secord prism

Lqt-l)Y"
1-

2

3(Kr +K2)
(3)

2

(4) Kl+ K2

tlass o

1.7. This combination
deviation. The
should be:

0) 1r
(2) f
M./*
(4) a 'tr

ftom the rerervoir at

0) l00l
(2) 1I

P)r/nt
14) el

without 45.

power gain of the

(1) 20 and 20m

(2) 200.nd 1000

,T,
fli\(3) ls

and 15000

The two nearest harmorucs ol a tubelEslgt one
end and gpen at other end are 220 Hi.rd 26 Hz.
what b I tundagleJlhl fte!:gEastem ?

t| dH, \/ ( .t-
ii, io* A *"\A
(3) mHz'' 1,/(4) 30 Hz 

\b"- \),

\:

I
(..

t
I

the

Then
and 4ggles

T1

40. A thin

withanother

-')P:

3 V. The
is 100

and

t

44. In a common emitter transistor

d

' and the base

200

\-
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In th€ el€cfoctkorical ceU :

ZnlznSO4 (0.01 M)ll cuSOlII.0 M)lCu, dle €o,I of. this Daniel ce[ is q. tryheD the con6E"tion of
ZnSOa is changed to t.0 M anf,thaiof CuSOl
Ehrnged to 0.01 M, the emlchanjg€s to E, From th;
folowints, which one is the retatiortshiii between

5f. The Earon for greater range oI oxidrtbn,t h3in
&tinoi& b attriEguo
(1) 4f .nd A hveb b€iry close in €ne.gi€3
(2) theradioactive nature oI actinoids
(3) actinoidcontraaion

E, and E2 ? (civeru!I =6.6591

0) E2=0 * El

Er=%

q 
'E2q'E(1)

The h€atint of irhenyl-methyt erheri
produqs.

(1) benzhe

(2) ethylchlorides

Mixture of dUorcxylenol and

0) antibiotic

(2)

(4)

antfueptic

antipyrert

({) 6d and 7s levels having comparable
energies

element Z been discovered recendv
belont to of dle fonowing farrdty/ SrouP

t, ele.honicconfigurari

(1) Nihogen famity, [Rn] St14 6d,toh2Zp6
(2) faEdly, [RIr] 5fl4 6dro 7s2 7p5

-\

(2\ ,/
\o/

Carbon farily, [Rnl sfla (d10 7s2 7f
-0q,\./ oxygen family, [Rnl sfl{ 6dro 7s2 7p1

53. Which one is the

]I

'?

CH3-CH3 > CH2=CH2 > Gr -C_{H >
CH{II

(3)

(4) 6Y+th,X
CH2 = CH2 > CH3-CH=GI2 > CHr_C =CH > GI =CH

(l)

12)

(3) CH=CH>
Gc-G:

Cll3-C - CII > =Gu i

Of the folorein& which is
cyclohexanone under89e!
folowed by heatinS ?

0)

(4) CJir=CH': CH2 = CH2 > CH1- C=CH >

N-,/,cll3 - cH3

, f"<
\tu

J

oo

OH

()

12)

. (3)

(4)

U molality of the diluE solution 6
dept6sion be

unchangqd

doubled '

halved

qPH

LW( (*t

(3)

dt r,n,
'[5tt

+1so5l

11 .8l
- s001

sos l

X

o

F(4)

47.

A tas is allowed to

volume of 4.50 L.
will be

to a final

(2)

(4)



lAgG.tHa)zl Silver mirror observed
-- Cui

(.,,i.)EU? -OH A
A

o

Z
NH2-NH-

l
C-NH:

synthesis "
thy[-{'h"

(3) -Methorymethan€, X-Ethanol Y-Dth.noic
acid, Z-Semicarbazide.

A-Ethanal, X-Ethanol, Y-But-2-en.l,
zsemicarbazone)'--

56. An example of a siSma bond€d orFnometalic
compound is:

(1) CobaltocsE

(2)

Identify A, x, Y and z

(l) A-Ethanol, X.A(€raldqhyde, Y-Butanone,' 
ZHy&azone. \+

(2) A-Methoxymethane, x-t{hanorc acia,
Y-Acetate ion, Zhydrazi^e. / \

Grignard's redge(lt

Ferrocene

57

(4)

Which of the folowin8 reactions b appropriate for
converting acetamide to metErySiEl

(l) Gabrielsphthalimide

(2)

(4)

Hoffmann hypot romamide rcadion+--
Stephens reaction

9 R

Identify A rnd predict the type oI reactionI

(2)

0) and €ine substitution reacton

OCII3

and substitution reaction
NH:

NHz
(3) and elimination addirion

Br
and cine substitution reaction

Mechanism of a hypothetical
X2 + Y2 -t 2 XY is given below :

(i) X2-+ X + X (fast)

(ii) X+Y2=XY+Y(slow)

(in) x + Y -+ xY (fasr)

Th€ overal of the

/Y-
(3)

(4)

1

2

058. Concentration of the At+iions in
of Ag2C2Oa is 2.2 x 10- r mol L-lsolution

solubiEd

V,.,
(2\ 2.42x70-6

(3) 2.66r70-tz

product of Ag2Cp. is

x 1o -12

(4) 4.s x 1o-u

51. Which o, the (ollowin
reurpElgq.?

(1) Watht

Mohdty

Mole ftaction

depend

a

i5. Consider the reactio$:

,iiJIi. ,,,.,,,"ri
+

L)

tl\



.HicttlEcorrlct

H:C - Hdo.

(r

product h dE

(8)

C Ar H3C-C=CH2 B: H3C

oH

haeing bond

-c-
I

o
CHr

(2) A: H3C-C=CH2 B: qC-C-CH3
,i.k o

(3) A: {rC-C=CH2 B

OH

-,I - C=CH.

so.

(4) A: H3C-C-CHr B: HrC_C=CH[-
o

(2)

(3)

- t4)

,""(?"*,*
tM"(cD6r

respect to

0) It ir dsd squarE planar
(2) It b rCd2 hybridi$d rnd octahedr.l
(3) It tu rddz hybridised 

'Ild 
ffi.hedlal

\({) -Jft d+d hybridlsed and octah€drat
\--.,'

12tr

10

67. Hff$ff'"*}g1;s***,
1r1 . ygfr"*-*t EE-
(2) -liquation

B) distillation
(4) zone refhing

58. Whichoneofth€ pairs of \,r tl

te

samegllgler ?

(r) Nz, d0
(2) cq No
(3) o"NOS
(V7''co
Corect for the velentths

in the visible retlon

70,

(r) 
P(MrJ43.,tco(enhl3..tco(Hp)J3 r

(:L,,1co(e,'hl3-. Ico0.rHdJ-. lc"ojpjJ..(3) lco Gr.o)J3+, t6" (enhp.,l co o;rrJr ,

(a) lco(Hp)613+,lco (NHr6p.. t co(6rh1r+

il",ffillrli"''@E-
xI

CH1
(trD-

NO.
GI) 

. 3el,j
0)

a)
p)
(4)

II<I<III.
II<Itr<I
Itr.<I<N
III<II<I

Name lhe ga3 that

$lolution:(1) P2Os

7'1. can rcadily deco

for Cq

(2)

(,1). No2

72 'Whichofrte

'so2

0) Planb

p) Micro organisms presentin the soil
(4) Oc?arB

53. It b b€cause of inability of nC ekckors of dr valare
shel to paticipate in bonding thar:

0) .5,n{+ is reducing while pba+ is oxidising
r{9- Srz* ir rcducing while pb. + is oxidising

CJ) Sn2+ b oxidising while pb{ } is reducing
(4) Sn2+ and pb2+ are both oridisix

reducing \ t8;:nd

HgCl2 and I, botlJgberd&lgly€lLia-:,vater
containint I - ions the pair of specieB fomred b :

\g-/rert,r-
(2) Hgt2,IJ

(3) HsbI-

(4) . HrK-, r;

E



7J. The IUPAC name of the coErpound

OO
Which is

n-+ 1;
L

h of the following statemenb

anioru are a.tmo* equaf,-
Feooes has non stoichiohetric Errtal
defieiency deftct \.,2 \./
D€rlsity decreases in casg of crystals with
&honry's defect Ez'---l

rnpounds in which siz€r of cation and

is insu.lat!,rr, silicon is
conductror, quartz is eleckic

?

outed in those ionic

alkati metal
tion of theL salb

ies and can folm a bond by

nhichof

(1) 
ilketo-2-med|ylher-5-€nd

RI,z lleto-2-nethylhe\4-€nal

1b;' sformyitex-z-en-s-one

(4) trnethyl-4-oxohex-2-en-tal
NaCl(s)
silver is
crystal.

0)

(2)

p)

(4)

74.

Wzlr:",,."turadon makes the F,roteiru mor€ active

rert?

iescontain S -S

(2) lnsulin maintains su level in the

(3) Ovalbumin is a simple food reserve in

(4) Blood prote ins thrombin and
irvolved in bl

(2)

(3)

(4)

Li

Na

K

Rb

75 The equilibrium constanb of th€ fouowing arc

N2+3H2-2NlL Kr

N2+O2=2NO. 19

n s. * 2 o. -\r-o K-l

The equilibdum constant (K) of the reaction :

_. K
zNt\+/2O2 - 2 NO+3 H2o, wilbe'

energy of2s is Iess than ellerSy
2p orbital in case of

(2) d€-&odie'swavelengthisdvenb,

79. Whkhone ir

(l

h

(3) The uncertainty principle ir AEx-&>),/4,r

where m= mass of the
velocity of the particle.

grouP

phile can be eithe. tEuhll ]fpcidv.ly

(1) Kl K3lK1

(2) K

l(
\x4
-kt

HaffiIed and
stability due
greater sym
arranSement.

(4) h,Iy f ixed ogEEbgg$eater
to sreater exch.nse enerty,
metry and

m. The codrct statement rega.ding elechophile is

rl/r,

K, K:/K1

(4) K2 K1/Kr

In which pair of ions both the spec

charFd spec
acc€pting a
nu(leophile

pair of electrons

(2) Ele(trophile is a negahvely charged species
and can form a bond by a(rpting . pdir of
ebchors from a nucleophihrit sno?-,-szx

(2t s\-,s,o];
prz{,o!-,srol-v
(4) s",#-. s.ol7\'. ' "

6-s
dutted species

and can form a bond acceptiry a pait of
electrons from another

. (4)

76.

R

)>)

78. Ionic

(1) r

-+*
P) Ehcrophite is a

Electsophiles ale terlgrclly rEtsrl ;IEcto!
and can form a bond,I{ ac.€ptitlg r pair of
electrons ftom a nucleop'hile



A 20 tiE€ containerat {00 K contrins CO2G) at
pr€ssule 0.4 ahr and an exceas of $O (negled the
volu.me of solid SrO). The volumeof dr€ contairEr is
now decreas€d by hoving dre movabk pE6ifitted
rn ure .onraner I he mayimirm volume bf the

81,

E

container, when pres
maximum value, will be

(Given that

Kp=1.5abl)

0) 2liEe

Q\5
0litre

.l lihc

82. Which one is the niostacidic

(2)

(3)

85. With respect to the conJormets
the follo$,in8
(1) Bofh bond anStesgd

(

(4)

Match

(2) Bond angte remairls s\Ae bur bond tengdrchanges /

bond

(3) anghcharyE but bond lmgth renain,

(4) Enzymes catalyse tnainly bio_chemical

Tel2 XeF2

Both bond angle rnd bond length cirange

Which one of the following statementj

(r\ toenzym€B increase the catalytk activity oa

(2)

(3)

88.

tw; ,

Columnl

xx

wi0r

cL? @t XX'

Tekaiedral

(iv)

(,)

G) (d)

tu, (r)

tr, (ll)
(i,) (ii)
(iii) (ii)

t2

(3)

(4)

E4 A fust order reaction hrs a
10_2s€c-1. How much time
the
(1)

(2) /Ui*< I\ff 1ro.6 xc k',

rcachnt to Educe to 5 g ?
6 .0 sec 

-
\lil
,fiJ

"e
coz(g),

0

w
0

b
Ifr Iih'J

".tjo

(2)

v
ltr
tu,

4^

Y

F.

B

\\

tir

(b)

(.)

(d)

C-olumnII
T - shape

e..oe"1@-,"-ia"r

LinearI

AS
at

For

(2)

(4)

reaction,
l mol I.

AH=

that AH and AS not vary with

>298K A0\"t[ hALl)
T<{25
T>qE jf'('t

N
K

. Code:

G)
0) (iv)

at z6,l
\r/ liiil

(4) (v)all
\(1oo
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89. Ttre moat Buitable method of r€pqrrtion of 1 | I

mixture of ortlo and para - nikoplErrols b :

01,-<bah distilation

(2) Sublihation

(3) Ckomatogaphy

(4) Crystallisation

95. An er@mPle of

(11 St ogyt

(2) 7taft a

e/u*
(4) tl,olhn.I

q). The correct order of the stoichiom€tsies of
formed $ hen A NO in excess is treated
Nith the.omP
CoCl,..l Ntl, resD€ct

nr ' 
i,l*.i., o*c,

CoCl,-6Nl
ively B:j

J
, r AgCl

3, CoO3.5 NH,

(31

(4)

Cl,lAgCl,2AgCl

I A8CI, 2 AgCl, I ASCI

DNA repli.ation in bactEria

The function of copFr ions in copFr releadng
IUUs is: r

93. The assciation of histone Hl with
indicates

(3) I)NA rep

(.{) Ihe DNA is condensed into a Chromatin
I:itr{

0)

(1) .Just before tra$cliption
(2) During S phase

(3) Within nucleolus

(4) Prior to fi$ion

Options:

(a)

(a)

(b)

G)

(d)

0)

(3)

(4)

a).

(iii)

(fi)

(iv)

(n)

Conorr

Syphi

Genital W

Hry

N.ir6.ri,

Tftpsta

Hu.ElrIr
Papillouu - Viru!

i)

92.

o (d)

(ii) (D

(w) (,)

o+)
(m). (')

Or 21,*,iui "*p".
lP)//They suppr€cr-lpsggotility and fertilising\-- (afacity olgrqts.
(3) Thcy inhibit tameE#nesis.
14) They make uterus \$itable for

implantation. / - .

(n)

(-)

(i,)

97 Coconut fruit is a

[) The Dt.rA double helix isjr88ed..----
(2) Trans{ription is occuring.

D.up.

Bery

Nut

0)

(3)

(4)

98. Which of the following facilitat€s open

9. The le8ion of Biosphere R€serve whi+ is legally
prot€ctelt and wherc no human activity is allon,ed

stomatal aper

(1) Longitudinal orientation oI cellulose
microfibrils in the .ell wall of guard cells

Conbaction of outer wall of turrd celt

in tugidity oI Suard c€ltrCore zone

(2)

(3)

(3) Bufferzone

(4) Transidon zor* %J
(1

i. j$t
R

(2) 1 AgCl,3 A8CI, 2 AtCl

. Match the following sexually transmitted
diseas€s (Colunr,r - 0 with their cawative atmt
(Colunln - n) and select dle corecl option.

Column-l Colunn- It

ol

Radinl orierrhtion of celluboe lthodbrib i^
arc cell wall of tuard cclls



at
Whkh ofdra
chalachr to

(1)

106. Thc genotypes ofa Husband and Wife_are IAIBand

f#:tll:liffi3r..iffi,Tfli

occuN h
Femab Reproductive kact

Rete b6tit

Epididymis

(1) a Senotype; apryfrotypes

(2) 3genotypes; 3phmotypes

(2t Ce[ wall

(3) Nudearmernhnne

(4) Plasma memb.ane

(2)

(3)

(4)

Mycolhi6'e are +he exoFle of
.4;,' uutuaism

(2) Fungistaiis

(3) Amensdislr

(4) Antibiocis

101. MA LT constitutes about _ percent of the
tydlphoid Essue in hunan body.

100.

xait tV
(1) 1

50s

20%

70%

(3)

(4)

102. Which of the folltrvinS is cqrecrly matched tor th€
usd-ry_-dlell? =..==-

(1) Tomato is a
Srosn in

S ac chrorrryes 6xobi@ : Etl,ianol

P.nicilliuil tot'trn I A& acLd

103. DNA fraghenb are:

(l) Either.positivety or ne8arivety ch.rSed
dep€Fding on theL size

churged

Negatively charged

({) Neukal

Q'
p)

(4)

[:'rm:';rirffiiffixxsx
urecorred statement- 

-(l) $-.U" ."U un".i" is due qa ouintitahve
probl€E o{d,ot,b E 9!Eu1€s. X(2) Borh alt due !o r qurlititiECaftd h gtobin
charn syntreais.

(3) Boft are due b rquanqg$yade&Slgglobin
charn 3ynEp3l5,

(4) 'Iluhsgerria b dueb leas BFthesis ofgbbh
llrolecules.

108. Life cycle of Ec,it!7lls and Flcus respectivelyane: --+--
(l) rhptodiplontic,HaptFlic

(2) H.ptontic,Dipto.,tic

(3) D}tonticHaprodip$&ic

{g,T6aprodiprontic, Diplontic

llD. Functional megasporc lll .n angi6p€r& der,eloF

(t) Embryo

(2) Ovule

.O) Eiddrperm ''

Q1/rnuoyoo"

R

99.

1t7,
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110.

R
c€ll

Q)

(3)

0) Phloem

@ Xyten Fterrhyma
(J) CollencJlyEla

1a/vt*w^

Orc

in his

(1)

(2) - Tall or Dwdrf

Pod - Inflated ot Cor$kicd

(0

Trichomes - Glandutar or non-glandular

Seed - creen or YelLw

117. Select the
The varular cambium normally gi

(1) Perid€ml

(2!/Pheuoaerm

(3)

(4)

Primary phloem

secondary eiim

112. Which of the following k m.de up

for
116.

119.

to

Mitochondrion

Lys&ome

(t) E4i*am Homoqporous

")4"X'1y..fi,,,,"
(3) Cy.as - fjioecious

(4) Salunn Hqtrrglporous

*".n *o,rr,"- * *",'.X,6i1),
0)

Forest ecosystem

Grassland ecosystem

(9 Pond ecosystem113. During DNA Olazaki

oI

(2)

(3)

(4)

Q)

p)

(4)

rtrnd away from dle rcpli:atim

The leading smnffiwards reptication forL

The laSging stsand towardi replication fork.

The.leading sEaIF away from r€plication

Onerydornonas

Marclunti4

(1)

1:l0. Which of the folowing
s€quence of events d

disassembl) --r a rr3!99!ggl3!equaror _J

condeniation- Over -) nuclear

0) condensatio$ -r aflagggklgulr,or J
centrom€re division -+ sftegation -+
tetophase

(2) condensaiion --;\plear menbrane
drsasscm'bty ---r fnrring over -+
segregation -+ telophlse

115. Whichof the
conditiini ?

(3) ensation J nuclear membrane

p)

(4)

Archaebackia

Eubacteria

Cyanobacteria

(4)

telophase
bly J segeeation --f

t

used

114. A temporary etdocrine glfid in dle human body

0) Coryur.lhhrtrr

(2) Pineal glrnd

(3) Cjrpur cardi.cum

Yr,?z corpur luteun

follorving rle fourd in exteln€salirte

-_--_.-..-.-
i;'ffi*:s'i'i'" ., q€treqation r



R 1

127.

(4) Hormonal inmune response

122. Vnoids

(2)

(3)

(4)

RNA molecules without protqin coat

DNA mohorles with Plobin coat

DNA mol€cule5 without protein coat

RNA molecdes with prcbin coot

(1) Norroc

Trarsplantation qltbsuB/orearB falb often due
to.r'on-{ctepran€Ulblstiribtrodyl wtiartype
ot rmmune-respon5e is resDonsible for such

(1) PhFiobry imnune resporue

(2) Autoimr*, rcsponse

i{g,,/'ceu - mediabd ihmune req)orse
(3) directional 6s it e mean of thc

character in

(1)

stabilizihg followed by dbruDtive as ir
stabllizesthepopulati6n-E-fr Eehe,
),ieldin8 cows.

stabrlizrng s€lecrion.s it sr.bitizes thrs
cnaracter nr the poputation.

0)

(2)

iil:ffi:il'ii:m#-fl""E[:,loweroutput.

(2) o6tb

(l) os.,rfa

(? Anaphase
degradation for
of animal cells. II is d€{ective cell,
which of the folowing 6i;@ttoccur,
(1) Recombin tion of cluomosome arns will

128. In oronrs are the modifirntions of
(2) Chromodo&€willhotcond€nre

(3) Chromosotrr€r wifl beftrgm€nd

q1f --d,--*"-. *rn not.egeg.te

124. Which among the ar€ tho smallelt
c€Is. knohn witftout a definih ell
to plants

oxySpn ?

as vrell rs animals and can survive without 129. In cas€ of

Laat

Stipulet

Adv€lrtitioB root

SCm

Q) Ba.flJras

(3) 
) 

donaruE

!!rf My(oPlasma

the spongocoel b lined with

part of125. Fruit and leal drop ateIy:EIllEItsvenhd
by the ol

(1) Gibberclli...id

(2)

Eorylene

130. The moryhological nature of the edible

Ped p

P€dip€rEl

Cotyleddr

@

0)

(2)

B)

(4)(4)

B

1

.!k i

Artificj.l setection io ot tain corys yirding higher
mitrouPutrEpr€a€nti: +--:-

(2)

(3)

(4)

mes€nchymal cells



described for firct

7
131, Which

(1) The
137. Mydin Bhe.th i, produ$ by

(1) and Ashocytes

S(hwann Celb and Oligodendrccytes

p) Ashocyb6 and Schwnrm CeIs

(4) Oligoden&ocytesandosteoclasts

138. Flowerc which
are packed into

Permeable to

133. Which one of the fo[owing statements
for aerosols ?

Hypersecretion in

0) size after

C(2) Hormone becomes ina.tive in adults.

Dlates close atter adoles.ence

The ascending of

p) The descending of

(4) The ascendinS limb of loop of
have single .vr le in tle ovary and
uurorTsts3Ijj9lllj, orinaH

132. ln case of a couple where the male b having a very
Iow sperm count, whlich Eshnique wil be suitable
(or fe9itation ?

(U,/z InEacytoplasmic sperm inirtion
(2) Intlauteinehansfer

P) Gamete intracytoplalmic falopian transfer

(4) Artificiallnsemination

by

0)
(2)

p)

Bat .

(1) They have negahve impact on agriflthual
land

(2) They are harmfirl to human health

(3) T)€y alter rainlalland nonsoon pathms
g /hey cause increased agricultural

" productiYity

139. Alexander Von

Which of the folowing

0) ujl_ds

(2) Nuileic acids

€) Proteir6

(a) Pol

Population Growth equation

Ecologcal BiodiveEity

l,aws of m.q!4ract.

area relationships

(l)

Q)

p)

(4)

/')
ty

141. Select

(1)

(2\

(4)

F

tr19['.2

@v.
Myconhiza. ,b

Nitsosen fircr

/ffi? Pres€n € of planb ar?arued intn wll defurd ve irl
L,/ rayers deFnd,nr on EillgEllgiaEsg.b€.t

ln i-

0) TemFrah For€st

(2) . Tropical S ,.rh.h

D( Tropical Rain Forest

l9l Grassland
i

135. AtEactantsartgg!3IIggEgllhli
0) Cleistog.trry

(2) .Ar|eIrtophily

VB- Entomophly
.. (4) Hydrcphny

0) q and Ca planb
P< RW

P@.

the prinary

C
)

,W,iY:
wc,Ptaft

F' '!_ rl .

R
statements

Rhodospifllum

r



1|:}. A dbease caused by rn autosoEral prirnrry
nondiriunction ie :

(1) Sickle C€[ Anemia

s Svndrome

1{4. Outof'X'pairsof ^1',

tlue ribs. Select
filiues of X and Y ard provides dlen explanation

(3) Klinetulte/ssFdrohe

(4) Turne/ssynd'me 
yr\

attached to vertebral column
but .re ft€e on venhal'side.

True .ibs are attrched
dorsallv to verteffiBlumn
and venEally to the sEmum.

True ribr are attached
dorsally b verbbral column
lrd sbrnuln or 0le two €nds.

(1) X=24,Y=12 True ribs are dorsally

(3)

X=12,Y=7

X=12,Y=5

(4) X-24,Y=7 True ribs are dorsally
att ched to vertebml colum
but arc hee on ventsal side. '

145. Abaryboyaged ir admitH to
and passes through a
obs€rved that the boy

(1) Mola.s

@ lncirors

had twenty teeth. Whi€h teeth

(3)

({)

Canines

1|6. A decreaseiq
the release of

(1r\f6H .

(2) Renin v
P) AtirlN.Eiuiet EroN

blood

({)
($ Pcidvely durgEd fragwrb mot'e r drther

€lrd

' rl' ffitvf*llir

g Which celb of 'Crypts of Lieberluhn' secrete
attibacterial ly,ozyme ?

(1) 
>a/
Kupffer cells

Arymtaffin cells

Paneth cellg

ZymogCn cells

(3)

(,r)

148. Spk:gsomgl"

W,"'{acteria

n.l in cclls of

(21

(3)

(4)

Plants

Fungi

Animals

149. Homozygous purelines in cat e can be obtained
by

150. GnRH, a hypothalamic hororone, needed in

(l) y,ting of indrviduals of different rpecies.

Pr,,/miting of related individua-ts oJ sryre breed.

(J) matin8 of uluelaH iiilviduals of sam(
bi€ed 'w

(4) EutmE of individualrtr)diffeFnt brced

rcprcduction, acts on :

(l) postd or prtuitary
se.retion of LHi{f

(2) anterior pituitary
s€cr€tion of LH and

gla\d and stimulates
on&in

gland and stihulates
relaxin.

(3)

(4)

151. What is the criterion for
on atarose gel during 8el

pituitary gland and stimulates
of LH and FSH.

posterior pituitaryldland and stimulate,
seaetion of oryho(Ad FSH.

'|

(1) Negawely (harted fratmsrb do not move

(2) The lutet 0re ftaerrr*Ntz2, tr€ fardler i.

c3) The sma.ller the fragment siz€, the fadler ir

i)-
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The DNA
8el

can be

(2)

Etridiun bmmide

Bromophmol blue

Aniline blue

(3)

(1)

(a) They do not need to rc

O) They are somati. cells

(c) They do not metabolilg

(d) All thet intenElspace is availabh for oxygen
hansport

Options:

(1) (b) and (c)

(2) only (d)

(3) only G)

(4) (a), (c) and (d)

154. A dioecious flowering plant preventsE9

Adult humdn RBCr are eqllleerp. Which-;f d,e
foll6wing starement(s) rslare most ap't6riatc
e\planation for this feature ?

0) Cleistotag) and xmotany

(2) Autoga-dly and xenogarry

ID,/Autogamy and &ito-noFmy

(4) Geitonogamy and xenogamy

155. Whichstatement Krebc' cycle ?

U^ cycle starts with co
SrouP (acetyl CoA) wiur
.it c acid

During converrion of

There are three poinb in the cvcle where
NAD + is reduced to NADH + Hi-

"-----\./'
There is one point in tlre cycle wheE FAD +

is redukdr'FADH2
4/

ndqEltion of acetyl
pyrxr.ac'd toyield

(2)

(3)

(4)
succinic ac

3uc.invl CoA- to
ecule of cTP is

156. A gene whose exptession help! to identifv
hansformed S!.,1tEg asl+

R

gene

(3) Vect'r

(a) Phsmid

Good vision d€pends on ad€quab inhke of caroEE-
rich food

Selecl the b€st opBon from the followilagbh!6|b.
(a) Vitamin A derivarives are for ed from

(b) The photopighents arglmHded in the
membrane discs of the rfop setmenl

(c) Rerirut is a denvadve o({,I#n A.
(d) Retind b a of all the

virual phobpigmenb.

Options:

(1) O), (c)and (d)\/e) G)q(a)
(3) 

't.k\andtd)
V bl.nd(cl

158. Which of the fouowing RNAs should be mo3t
abundant in animal cell ?

0) Ed-RNA

.;By'r-wa
(3) t_RNA

(4) m-RNA

159. Which among the3€ is the
aquatic llummals ? "61).o-ri,-u.,, of

Trygon,

Seals,

Dolphirs, 80'r

Dolphiff, S€als

160. Phnts which -?redrS€_lhlrcterirtic
P*.*EllEggiErf@.tsklsb:
(1) Hydrophytea

(2) Me3ophyh3 t
1p1--d"r"plvb
(a) Psannophyte3

after

(1)

0)
(2)

(3)

Seals
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0" Which one-of the foltowing statementB

Co-facbor

+ Ccnzvme

+ Coenzlme

(4) Coenzyme = Apo€nzlme + Holoenzyme

163. The pivot joint b€twe€n qths and axir is a h?e,of :

(1) saddle ioint

\2) fibrous ioint
(3) cartilatinoG joint

14) -/avnovi.lioint\t'
154. Which of the following rePles€nb ordcr of'Horse' ?

route for the passage of sperns in

Testes -, Vasa efferentio .) Kidney __,

Bidder's canal e Urinogenital duct _+

Cloaca '
(2) Testes r Biddels canal -r Kidney J Vasa

efferentia --, Urinogmital duct r Cloaca

(3) Testes -, Vasa efferentie a Kidney +
Seminal vesicle -+ U nodAi&rl duct +
Cloara \

(4) Testes -+ Vasa effermtia + Bidde.'s canal
-, Ureter -+ Cloaca

0) Ferus

(2) Euidae

Q.,z/Perisrod+tyla
(4) Cibalus

Reeptor.6iEs for neuob'arEmithrs .re prBmt on
-/.

\1.),/ post-synaPtic membrd'E

(2) membranes ofsi'naphc vesicl€s

(3) pre.s).naPticmembrane

(4) tif,s of arcns

fl) MerisEmaticactivity

$,/u"nuo,;on
Elongation

Root cap

+ . t*.rtffr

167, The *rEr poktial of pur€ waE k
.-..--...-.-

(3)

(4)

158. The process of separation
expr€ssed protein bcforc

(l) Postproductionprocessing

(2) ProcessmS

Dowrutleam processing

(a) Bioprocdsing

7ao

Less than zero

More than zero but less tlran one

Double feokation 
's 

exhibihd by

oV,(o**;-

(1) thai one

(:) Cymncpernu

P) Abe

(4) Fungi

tion ol

169.

170. If there are 999 bas€!J!-9l-8NA$Allarte, for s
protcin with 33,1_g.g,ird5dld_lbE-.haq€1,
posiuon @is aeleledru.hlLaute-leDslhjf the
RNA becd-mes &9 ho*-uranv391!erls r,; bcderyjy.: (-
(1) 333

(2) 1

(4 rr

dt'/
'"' ffift #ffill'eeeig*4""*

(l) Ilargo.hindKhorana

C4 Criffift

\+t/n 
"r-"ra 

q,r*
(a) Avery, Mcbod and Mccarry

'I

$,ith to enzymes ?

(2)

165.

165, Root haiff develop &oDt the region of:

G)

(4)



Frolr lE6rt lr,h€n taken out of [re Hv continu€3
to beat for uomeftiD

\__----z

(a) Frot is r poikilothem. '
(b) Frog doe3 not have any corohary circulation

k) V^eart 
i! ' myosenic' in natuJt

(d) 
\Pr.t-rs 

auto€\citable.

Select the best option from&e

Options

c) and (d)

only (c)

p) only (d)

(a) (a) and (b)

(3) Biodiversity hot spob

(4) Amazon rainfo.est

Which one of the folloygj!_I9lEe{-b-Ex-situ
conservation of threatened animals and

0) layan redon

wildlife Salari park3

which of the followin8
enzym€ com[ro3ition of

the

0) lipase, amyl.3e, trypeinogen,
procgrboxYpePtidase

(z) .wg(ylase, peptiaa-se, kyrp.inogerr rcnnin

(3) amylase, peFirr Eypsinogm, $use
(4) p€ptidase, amylase, pepsi& reMin

2l
fr' . tj i.rl+trt:

12. Tt€ lEp.ti. portal vein drahc blood to liver ftom

0) Inbtir€
(2)

p)

(4)

#
Stomach

KidrEF

p) 1840 - 18s0

(4) 1857 - 1859

tof

sharewith

(1) pharynx without gill slits

Mabsence of notochord

(3) venEaltubular -,rvecord

(a) pharynx with gil slits

18O, Whi.h one ftom thGe givm below is the period fo.
Mendel's hybridization experimenb ?

ol ,8m-$n
1856 - 1863

on 8.

LuJlgs are

because

(1i-BqiratoryRe"ervevol,rrne

Q),,,'6iaoot vot,me

(J) IrBpir.toryR€cePevohn

({) Tidalvolu,ne

ation,

)

178. Identify th€
heartwood:

(1) It comprises dead elements with highly
Iignified walls

(2) Organic compounds ale deposid in it

(3) It i! higNy durable

(4) /lt conducb water and minerals efficien y

rvhkhof tlefolowilAlS,ffeElE@Eqsv€s
Bu3pende4$lidc ?

(1) Studge tstttment

(2) Tertiary Eeahl€(lt

(3) Secondary heahnert

!9/,- Primary t eatrnent

-oOo-

l

I

I

I

I
l


